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Final Exam Review - Forces and Newton’s Laws of Motion
1. Newton’s First Law, the Law of Inertia, states that an object will maintain
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2. Newton’s Second Law states that the (£ (. | ‘ﬁ"* U7 isdirectly proportional to
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3. Newton’s Third Law states that if Object A exerts a force of 40 N to the right on Objeq‘t B,
Object B will exert a force with a magnitude of %JU/L’ .. to the / 1’17{%
on Object A.

4, The amount of inertia an object has is directly related to its maJss
£ f /
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6. The units of acceleration are / 3

7. Force and acceleration are both V(’) C }LL’ /) because they have magnitude and direction.

8. Compared to the direction of the net force vector, the direction of the acceleration vector is
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9. When an object is in equilibrium, the /fu 4+ T acie fre""*s zero.
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10. The amount of air resistance an object experiences depends on its JUr ﬁ L ek
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11. When an object is at terminal velocity, its acceleration is [' o i . This
is because the air resistance is 't’iﬁ?{_.e’ﬁ/é T Oppa) A the weight. Two ways to
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decrease the terminal velocity of an object are to increase the 1974 ?4 (e &1éq
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1. Which of the following carts has the greatest inertia?

1) a I-kilogram cart traveling at a speed of 4 m/s
2) a 2-kilogram cart traveling at a speed of 3 m/s
3) a 3-kilogram cart traveling at a speed of 2 m/s
é} 4-kilogram cart traveling at a speed of 1 m/s

2. Compared to its mass on Earth, the mass of a 10 kg object on the moon is

1) more. ( 7)) the same. 3) less.
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3. Compared to its weight on Earth, the weight of a 10 kg object on the moon is
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1) more. 2) the same. Q_)/léss.

4. An object in equilibrium
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1 2) ) Must have a constant,-non-zere velocity ¢
Must have a constant, non-zero acceleration\
4) Must not have any forces acting on it
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5. A book is at rest on a table. We know Fy = -F, because of

1) Newton’s 1% Law
2) Newton’s 2" Law
3) Newton’s 3" Law
4) Fn does not equal -F,

6. If the net force on an object triples, its acceleration will

1) Remain the same
2) Double
[ 3) Triple
) Quadruple

7. Which of the following would increase the terminal velocity of a falling object?
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(J,)\'Increase the mass
2) Increase the surface area
3) Throw it downward
4) Throw it upward
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1. A 15 kg mass is shown below with two forces acting on it.

50N €——1 15 kg > 20N
a) Calculate net force acting on the mass.
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b) Calculate the acceleration of the mass.
Sk = ma
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¢) What third force (magnitude and direction) would have to act on the mass to bring it to
equilibrium. . - -y
§F= FrBrh
[=75en =gl +1p

f?z‘ﬁﬁiipﬂf 2

2. If you were going to design a parachute so that an object falls as slowly as possible, what
would you have to do?
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